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iMinEscale_SDK_V1.0.0.13_20250217 jar

implementation files('libs/iMinEscale_SDK_V1.0.0.13_20250217.jar')
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ScaleManager scaleManager = ScaleManager.getInstance(context);

//iMin Scale service
scaleManager.connectService(newScaleManager.ScaleServiceConnection() {

@Override

public void onServiceConnected() {
//Service binding

1

@Override

public void onServiceDisconnect(){
//Service unbundling

}

}
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<manifest package="J & # i F .4 ">

<queries>

<package android:name="com.imin.peripherservice" />

</queries>

:/manifest>
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scaleManager.getData(new ScaleResult(){

@Override
public void getResult(int net,int tare, boolean isStable) throws RemoteException {
//Return weighing result

}

@Override
public void getStatus(boolean isLightWeight, boolean overload, boolean clearZeroErr, boolean calibrationErr) throws
RemoteException {
//Return to weighing state
}

@Override



public void getPrice(int net, int tare, int unit, String unitPrice, String totalPrice, boolean isStable, boolean isLightWeight) {
//Return valuation result

}

@Override
public void error(int errorCode) {
//crc exception callback

}
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String getServiceVersion()

String getFirmwareVersion()

void zero()

void tare()

void digitalTare(int i)
void cancelGetData()

int[] readAcceleData()
int readSealState()

int getCalStatus()
int[][] getCallnfo()

void restart()

void setUnitPrice(String unitPrice)

String getUnitPrice()

void setUnit(int unit)

int getUnit()

List<String> getCityAccelerations()

int setGravityAcceleration(int index)
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